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] 100kN/m%E#B 2% — -~ = —|3mzBz3 — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mz8BZD — ~ — — —
zhst 1.00 | 0.00 ~ 448 5589 | #hist | 000 ~ 248 | 1.93 9.74 zhust 1.00 | 5.00 ~ 5.00 5589 | #hs | 500 ~ 500 | 1.93 9.74
2 100kN/m%zE#82% | 1.00 | 000 ~ 025| 103.65 |3m&E8z25| — ~ — — — | 100kN/mi%E#2% | 1.00 | 11.92 ~ 1265| 103.65 |3mERZ5 — ~ — — —
zhst 1.00 1025 ~ 803| 100.00| Ends | 000 ~ 803| 247 12.47 zhust 1.00 | 5.00 ~ 1192 100.00 | Fhs | 500 ~ 1265 2.47 12,47
3 100kN/m%E#B 2% — -~ = —|3mzBZB — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mz8BZ 5 — ~ — — —
zhst 1.00 | 000 ~ 7.74 99.35 | #hbst 000 ~ 774 253 12.79 zhust 1.00 | 5.00 ~ 1247 99.35 | #hds | 6.00 ~ 1247| 253 12.79
4 100kN/m%E#8z%| 1.00 1000 ~ 136 120.71 |3mE8ZD -~ — — — | 100kN/MZE#BZ2 | 1.00 | 1067 ~ 1500 120.7]1 |3mEHZD - ~ — — —
zhst 1.00 | 136 ~ 915 100.00| FhsS | 000 ~ 915| 247 12.47 zhust 1.00 | 6.00 ~ 1067 100.00 | FhH | 500 ~ 1500| 2.47 12.47
5 100kN/m%E#82% | 1.00 | 000 ~ 126 119.00 |3m&E82B| — ~ — — — | 100kN/mi%E#8252 | 1.00 | 1067 ~ 1500| 119.00 |3mERZS — ~ — — —
zhst 1.00 | 126 ~ 9.04| 100.00| ZhH | 0.00 ~ 9.04| 2.29 11.57 zhust 1.00 | 6.00 ~ 1067 100.00| ZhS | 500 ~ 1500| 229 11.57
g 100kN/m%zE#82% | 1.00 | 000 ~ 250 13910 |3mE8z2B| — ~ — — — | 100kN/mi%E#822 | 1.00 | 1072 ~ 2100| 139.10 |3mERZ — ~ — — —
zhst 1.00 | 250 ~ 1028 100.00| Fhs | 0.00 ~ 10238 2.83 14.32 Zh st 1.00 | 5.00 ~ 1072 100.00| Fnst | 500 ~ 21.00| 2.83 14.32
7 100kN/mM%EBZS | 1.00 | 000 ~ 1.31 119.92 |3mEBZ3 - ~ — — — | 100kN/m%E#%Z% | 1.00 | 11.07 ~ 1531 119.92 |3mEkBZ 5 - ~ — — —
zhst 1.00 | 131 ~ 910 100.00| Zhs | 0.00 ~ 9.10| 2.56 12.95 zhst 1.00 | 6.00 ~ 1107 100.00 | ZhS | 500 ~ 1531 256 12.95
g 100kN/m%zE#82% | 1.00 | 000 ~ 0i12| 101.74 |3m&E82B| — ~ — — — | 100kN/mi%#2% | 1.00 | 1155 ~ 11.88| 101.74 |3mERZ5 — ~ — — —
Zhst 1.00 | 012 ~ 790 100.00| ZFhs | 0.00 ~ 790 | 2.43 12.26 zhst 1.00 | 6.00 ~ 1155 100.00| Thst | 500 ~ 1188 2.43 12.26
9 100kN/mE#82% | 1.00 | 000 ~ 050 10747 |3mE8ZB| — ~ — — — | 100kN/mi%E#2% | 1.00 | 1061 ~ 11.99| 10747 |3mERZ5 — ~ — — —
Zzhn st 1.00 1050 ~ 829 100.00| Ths | 000 ~ 829| 225 11.37 zhst 1.00 | 6,00 ~ 1061 100.00| ZhS | 500 ~ 1199]| 225 11.37
10 100kN/m%E#B 2% — - ~ = —|3mzBz3 — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mzBZ S — ~ — — —
Zzhn st 1.00 | 000 ~ 754 9647 | Fhs | 0oo ~ 754|225 11.36 zhst 1.00 | 500 ~ 1000 96.47 | #hst | 5,00 ~ 1000| 225 11.36
100kN/m%E#B 2% ~ 3mEzBZ5 ~ 100kN/mZE#B 75 ~ 3ImEBAD ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m%E#B 2% ~ 3ImEBZ5 ~ 100kN/mZE#B 75 ~ 3ImEBAD ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m%E#B 2% ~ 3mEzBZ5 ~ 100kN/ M%7 5% ~ 3ImEBAD ~
Zh st ~ Zh st ~ zh s ~ zh s ~
100kN/m%E#B 2% ~ 3ImEBZ5 ~ 100kN/mZE#B 75 ~ 3ImEBAD ~
Zh st ~ Zh st ~ zh s ~ zh s ~
100kN/m%E#B 2% ~ 3mEzBZ5 ~ 100kN/ M%7 5% ~ 3ImEBZD ~
Zh st ~ Zh st ~ Zh s ~ Zh s ~




